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import sys
sys.path.append("statlib")
from multi import Scheffe_paired_comparison

Scheffe_paired_comparison(A, B, labels=None, verbose=True)
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FHExdR 1 10 13 41 33 10 FH@NR2
FREx& 1 3 12 47 26 19 FHEMKRS3
FRExZ& 1 2 9 32 12 52 FRMENKR4
FRfExdg& 2 23 32 30 12 10 FHEMKS3
SRExdZ&2 27 11 31 13 25 GERMENKR4
FPlixdsR3 21 7 10 33 36 FHEXIR4

B = 1[4, 2, 0, -2, -4]

[[10, 13, 41, 33, 10],
[ 3, 12, 47, 26, 19],
[ 2, 9, 32, 12, 52],
[23, 32, 30, 12, 101,
(2, 11, 31, 13, 257,
(21, 7, 10, 33, 36]]
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import sys
sys.path.append("statlib")
from multi import Scheffe_paired_comparison

a = Scheffe_paired_comparison(A, B)

score: [ 73. 155. 129.5 272.5]



